An electron beam i1s normally defined by its (6+1) 7 parameters.
Phase-space + charge = (X,Y, z, pX, py, pz) + charge

Input in many simulations 1s like: &%, gy, 02, €, ¥, Ay, Q + distribution

In impactX we give: ~ Beam kinetic energy (Eb).
Bunch charge.

Particle numbers (npart).

&
Particle bunch distribution (waterbag)
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Further, input parameters for impactx
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We know beam kinetic energy, therefore, y and 8 can be calculated.

Kinetic energy = Epr = moc2 (y -1)
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If we know ex and ey we may calculate Ax, Ay, Apx, Apy ( right ?)

But how to calculate A+ and Apt ?7?

Also, how to calculate pxpx, Hypy, Htot ?7?




